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Part I: SFEEE(JSEE 10% » 3£ 20%)

1. Consider the following fixed-floating interest rates which companies X and Y face:

Company X Company Y
US dollars (floating rate) LIBOR +0.1% LIBOR + 0.6%
AU dollars (fixed rate) 5% . 6.4%

Assume that X wants to borrow US dollars at a floating rate of interest and Y wants to borrow
Australia (AU) dollars at a fixed rate of interest. If you were a financial institution, please design a
swap that will make you a 0.1% gain. If the swap is to appear equally attractive to both companies,
what rates of interest will X and Y end up paying? (10%) |

2. NKFUST Bank has the following balance sheet (in millions):

Assets $200  Liabilities $150
Equity 50

Total $200 . Total $200
The duration of the assets is five years, and the duration of the liabilities is four years. The

bank is expecting interest rates to fall from 10 percent to 8 percent over the next year.
a. What is the duration gap for NKFUST Bank? (5%)
b. What is the expected change in net worth for NKFUST Bank if the forecast is accurate? (5%)
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Part II: JEAEEE 3% » 3£ 24%)

1. NKFUST Inc: hired you as a consultant to help them estimate their cost of capital. You have been
provided with the following data. (1): rq = yield on the firm’s bonds = 5% and risk premium over own
debt cost = 3.5%. (2) rrr = 3%, RPy = 5%, and b =1.2. (3) D; = $1.20; Py = $60.00 and g = 5%
(constant). You were asked to estimate the cost of equity based on the three most commonly used
methods and then to indicate the difference between the highest and lowest of these estimates. What is
this difference? 1D

2. The NKFUST Company just paid a dividend of $2 per share, and that diﬁdend is expected to grow at
a constant rate of 3% per year in the future. The company's beta is 1.1, the market risk premium is 5%,

and the risk-free rate is 3.5%. What is the company's current stock price?_. (2) -

3. The Federal Reserve recently shifted its monetary policy, causing NKFUST 's WACC to change.
NKFUST had recently analyzed the project whose cash flows are shown below. However, the CFO
wants to reconsider this and all other proposed projects in view of the Fed action. How much did the
changed WACC cause the forecasted NPV to change?  (3) (Assume that the Fed action
will not affect the cash flows, and note that a project's projected NPV can be negative, in which case
it should be rejected.)

0Old WACC =10% New WACC = 6%
Year: 0 1 2 3
Cash flows: -$1,000  $400 $420 $450

4. NKFUST Inc. has an unlevered beta of 1.2. The firm currently has no debt, but is considering
changing its capital structure to be 50% debt and 50% equity. Its corporate tax rate is 50%, er 3%
and the market risk premium is 5%. What is NKFUST’s cost of equ1ty‘7 (4

5. NKFUST Inc. recently completed a 4-for-3 stock split. Prior to the split, its stock price was $120 per
share. The firm's total market value was unchanged by the split. What was the price of the company’s
stock following the stock split? (&))]

6. Six months from expiration, a put option on NKFUST Corp.'s stock that has an exercise price of $50
is selling in the market for $7.2. NKFUST 's current stock price is $45. What is the option premium?
(6)

7. Bank A offers to lend you $10,000 at a nominal rate of 8%, simple interest, with interest paid
3-monthly. Bank B offers to lend you the $10,000, but it will charge 9%, simple interest, with interest
paid at the end of the year. What is the difference in the effective annual rates charged by the two
banks? (0 | |

B2H A3 B [MARE)

f.r;-—' B e . Ty o Pl " il S b = ol -~

B f—HMRREAER

i
Jﬂ\'

i
=




- 8. NKFUST Industries has a bond outstanding with 5 years to maturity, a 9% coupon paid annually, and
a $1,000 par value. The bond has a 7% nominal yield to maturity, but it can be called in 2 years at a

price of $1,090. What is the bond’s nominal yleld to call?
(8)

Part II: FRELEGTE 2% + 3£ 6%)
1. Disposition Effect 2.REITs 3.ETF

Part IV: ENSAIE(EE 25% » 3£ 50%)
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